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Part A

Answer any ten questions.

Each question carries 2 marks.
 

1.  Define singular matrix.

2.  What is the condition for the product AB of two matrices A and B to be defined?

3.  If A is a square matrix of order 3 x 3 and if IAI =8, what is the determinant of the Matrix
4A?

4.  Find the rank of the matrix   

5.  Differentiate  

6.  Find the derivative of (x5e3x).

7.  Find the derivative of  where x = 3p4 -2p + 4.

8.  What is second derivative of y= eax?

9.  
Define     and   in par�al differen�al equa�on

10.  Defind the Laplace transform of a function f(t).

11.  Define L(tn f(t)) in multiplication by t in laplace trasform.

12.  Define division by t in laplace transform.

dp

dx
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(10×2=20)

Part B

Answer any six questions.

Each question carries 5 marks.
 

13.  
If A =    then prove that A2 - 4A - 5I = 0

14.  If A and B are symmetric matrices, then show that AB is also symmetric if AB=BA

15.  Solve completely the following equations 2x-3y=3 4x-y =11 using matrices.

16.  
Differentiate 

17.  Find the derivative of  

18.  z = axey + 1/2 a2 e2y + b Eliminate arbitrary constants.

19.  Form PDE by Lagrange's method , ptanx+qtany=tanz

20.  Find the Laplace transofrm of sin32t

21.  Find 
(6×5=30)

Part C

Answer any two questions.

Each question carries 15 marks.
 

22.  a. Define adjoint of a matrix b. Give the matrix A = compute adj A Verify A(adj A) =(adj A)
A= |A| I

23.  Differentiate  a) sin3x (x2+4)x

                     b) (tan -1x)x

24.  Eleminate arbitary function from PDE 

a) z=f(x)+eyg(x)

b) z=(x+y).f(x2-y2)

25.  Find the Laplace transforms of

(a) e-3tcos2t

(b)  

(2×15=30)
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